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Find out the next figure in the above series from the options.
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rmm the figures given below, choose the figure that will be most suitable to continue the patiern given
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Find out the number of triangles in the given figure.

(A) 12 (B) 16 ©) 10 (Dy 20

it o o 3 feee s (aen €2 B

How many rectangles are there in the chessboard ?

(A) 1000 (B) 1296 (©) 1208 (D) 1298
Frefafiad ww i smF s e 2 A
What comes next in the following sequence ?

B CEG,_
(A) K (B) H ) J (D) 1
Frferfian § & faww @eTg) 314 Haw: A
Find the odd one from the following :
(A) 3380 (B) 4096 (©) 4913 (D) 5832
Frefetfia sfaren & snrel v e i : A

Find the next number in the following series :
220, 221, 229, 256,
(A) 320 B) 10 (€) 280 (D) 312
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Choose the figure in which the question figure (X) is embedded.

o D8 BE

(X) 1 n 1 v
(A) 1 (B) 11 (C) m (D) IV
Frefertiaa sjmen # swre @en we i D
Find the next number in the following series :

40, 120,90, 50, __

(A) -10 (B) 20 ©) 10 (D) 0
AGETF JN R __H, 31T S787 F1-81 S 7 B
In the series F JN R __ which letter comes next ?
(VI (B) v ©) s (D) U
% “GREEN" F1 HEA F1549 R, T “VIOLET" 3T “PINK” 3 Feam Frel  #ra 1 s Fm e 2 C

If the number code for “GREEN" is 49, then the difference between the number codes of “VIOLET” and
“PINK” is :
(A) 35 (B) 45 © » (D) 60

Explain what is wrong?
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Find the next one in the given series
e siren :

Given series :
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Choose the correct mirror image from altematives 1, 11, I and IV if the mirror is keptat XY.
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Sindhu introduces a man as the son of the brother of her mother. How is the man related to
Sindhu?

(A) son (B) Nephew (€) Grandson (D) Cousin

65 knvhr i Feere e & A et B, 4 195 km i 3w § < fon e e

(A) 2% (B) 3% ©) 4% (D) 5%

A car trvels at a constant speed of 65 knv/hr, how long will it take to cover a distance of
195 km?

(A) 2hr (B) 3hr (©) dhr (D) Shr
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ced by a plane parallel to its base, but not passing through its apex, what is the shape of
the resulting cross-section ?
(A Ellipse (B) Hyperbola (©) Pambola (D) Circle
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(A) 234 (B) 133 (©) 233 (D) 33fw4

Three children, Sam, John and Ann, are eating icecream. Each child eats a different flavour from available
flavours, namely Chocolate, Strawberry, Butterscotch and Vanilla.

Sam does not eat Vanilla. John does not eat Strawberry. Ann never eats Butterscotch. Chocolate and
Butterscotch are not eaten together. Vanilla and Chocolate are eaten together.

Who cats what flavour from the available options ?

1. Sam - Strawberry, John — Butterscotch, Ann — Chocolate

2. Sam - Strawberry, John — Chocolate, Ann — Vanilla

3. Sam - Butterscoich, John — Chocolate, Ann - Strawberry

4. Sam— Chocolate, John— Vanilla, Ann — Strawbermy

Which of the above could be correct ?

(A) 2andd (B land3 (© 2and3 (D) 3and4
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Complete the analogy :
Fish : Gills :: Human : -
(A) Heari (B) Liver (C) Lungs (D) Brain

Frtfefi & wreal F FA-4 S o # wrat st A € 2

(A) W -_IE (B) = (©) F=r—Fm (D) T T
Which of the following pairs of words are most similar in meaning ?
(A) Start— Begin (B) Stop-Go (C) High-Low (D) Cry—Smile
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(A) 1947 (B) 1948 (©) 1949 (D) 1950
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CRI%ET21 @I*#@AT* #>8U>
Tf ST 6 A I o S 2, A ot wesd A vt e g
@) 1 B 0 © 2 ™) 3
Observe the following series carefully and answer the question that follows.

CRI%ET2I @I*#@AT* #>8U>
How many numbers are followed by an alphabet if the second half of the series is reversed ?
@) 1 ®) 0 © 2 ™) 3

afe fear i S, ST A, e S E A e e o g, d wien e e e
e :

@) - @) s (©) s (D) o
If Sunday is coded as January, Tuesday as March, Thursday as May, then Saturday will be coded as :
(A) June (B) August (©) April (D) July

Frefrfie o 3 545 x 545 - 125 x 125 F SRR FAL Y
Which of the following is the output of 545 x 545~ 125 x 125 7
(A) 286500 (B) 285400 (€) 281400 (D) 287500

A B, CHTDFWFTET TR E N A, C B, DERR F | D, € ¥ ardt i 2 e fe qd s R
D 1 e o o 27

“ (B) =for (©) 3% (D) wfem

A, B, C and D are playing a game of Carrom. A, C and B, D are partners. D is to the left of C wha is
facing east. Then D is facing :

(A) East (B) South (C) North (D) West
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4AH | 7AH | 32AH | 35AH | 55AH | %<1
192 75 144 114 102 108 | 543
1993 | 90 126 102 84 126 | 528
1994 96 | 114 | 75 | 105 | 135 |25
1995 | 105 | 90 150 90 75 510
1996 | 90 75 135 75 90 | 465
1997 | 105 | 60 165 45 120 | 495
1998 | 115 85 160 100 145 | 605

it et A o St o et forsfit wdt T 2
(A) 7AH (B) 4AH (©) 35AH (D) 55AH

The following table gives the sales of batteries manufactured by a company over the years.
Number of different types of batteries sold by a company over the years (numbers in thousands),

Types of Batteries
4AH | TAH | 32AH | 35AH | 53AH | Total
1992 75 | 144 | 14 | 102 | 108 [ 54
1993 [ 90 | 126 | 102 | 84 | 126 | 52
1994 | 96 | 114 | 75 | 105 | 135 [ 525
1995 | 105 | 90 | 150 | 90 | 75 | si0
1996 00 | 75 | 135 | 75 | o0 | 4es
1997 | 105 | 60 | 165 | 45 | 120 [ 495
1998 | 115 | 85 | 160 | 100 | 145 | 605
Which battery has the lowest total sales across all seven years ?

(A) 7AH (B) 4AH () 35AH (D) 35AH

Year

Fra i 9w i v ot gk g o i #h e 8, 3w R 1:30 e ot g e e o e
a7

() g (B) IE-af © v (D) afErafa

For a clock with 9% hour hand pointing towards the East, the hour hand at 1:30 points towards which
direction ?

(A) South-East (B) North-West (C) North-East (D) South-West

Freaferfian o & s e 3@ iy
Find the dissimilar number from the following :
16, 256, 64, 624, 1024
(A) 624 (B) 1024 (C) 256 (D) 64

et ST A A A E A A 8 9% A A d A A 9 10 % S
Herdt 7

(A) 36T S0t B) 40 siradad

(C) 32ad sfiw 36 = (D) 447 shrag=ad

What are the current ages of Antony and Betty if their ages are in the ratio 8 : 9 now and will be in the
ratio 9 : 10 four years from now ?
(A) 36 years and 40 years

(C) 32 years and 36 years

(B) 40 ycars and 44 years
(D) 44 years and 48 years

=t % offe s i 3 v o e 3 = = i e T ® 2

(A) TEEE (B) ‘e (C) et wiie (D) ZETE
Which chart type is used to represent the relationship between two variables ?
(A) Pie Chart (B) Line Chart (€) Scatter Plot (D) Bar Chart

aR M+ NFFE M, NFraE )
M-N#FAGEM NFER|
M X NFT S RM, NF TR
it et o 3 i e aiar & 6 X, Y 0w e, e X e e
(A) XXZ+Y (B) YXZ+X (€) ZXX+Y (D) XXZ-Y
If M + N means M is the sister of N.
M N means M is the brother of N
M x N means M is the daughter of N.
which of the following shows the relation that X is the maternal uncle of Y, where X's gender is male ?
(A) XXZ+Y (B) YXZ+X (©) ZXX+Y (D) XXZ-Y

PQ# WER S RFNawA RS, Tar Wi & 5 T, Qbiwi 21 S, Q& Frw e wiaifera 2 2

(A) st (B) s (€) =mr (D) ==

Pis the brother of Q. who is the sister of R. S is the brother of T and T is the mother of Q. How is S related
©0Q?

(A) Niece (B) Nephew (©) Uncle (D) Aunt

4 JUNE — 10-21 - 14- 5,9 JULY &m0
If JUNE — 10-21 - 14 - 5, then JULY will be
(A) 10-21-8-23  (B) 10-8-23-25 (€) 10-21-12-25 (D) 4-12-8-10

TR A WA H I R W At e et § e e

(A) TR () feufa ey (©) (D) =T
"Clock" is related to "Time" in the same way as "Map" is related to which of the following ?
(A) Cartography (B) Location (C) Travel (D) Vehicle

afe afor 21 8 e & e dioe A wier d s e fre e & o e d da g, @ i §

(A) Toregrer wfor foree ot (B) FrAF @

(C) i d e (D) =&z

If Mani s taller than Tony but shorter than Deepak and Tony is just as tall as Mohan but taller than Gokul,
then Mohan is

(A) Just as tall as Mani (B) Shorter than Tony

(C) Taller than Deepak (D) Shorter than Mani
e ST wE T
Find the next number in the series :
57,43,29, 15, 5
4y 0 ® 1 © 2 (D) 3

i ot A, B it € e vitemam wéfeam 3 At o At e i € ot s 24 39, 36 A9s 3 30
s e T A € | e fire % A 3 i fag w e ey

Ay n2fime (B 5 (© 6fimz (D) 8firz

Three friends A, B and C start running around a circular stadium and complete a single round in 24
seconds, 36 seconds and 30 seconds, respectively. After how many minutes will they meet again at the
Starting point?

(A) 12 minutes (B) 5 minutes (€) 6 minutes (D) § minutes
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Freaferfiae & & swmm der ama fifs -
Find the dissimilar number from the following :
1331, 2197, 4913, 5832, 6859
(A) 5832 | 1331 (©) 2197 (D) 6859

Wt T S 100 ST SIS B Ahe 6 e % e s g #

(A) AT (B) T (©) Affrs (D) =z
The renowned mathematician known for discovering the sum of the first 100 natural numbers is
(A) Pythagoras (B) Gauss (C) Euclid (D) Newton

o v 3 40 S 17 2 3 % s # 2w sl arh @1 s g o g e 3 e, afomst o 79 3
ST 7 | ST R | gt e ger <t s e o 2

@ 12T (®) 8= (© 6 (Dy 47

40 litres of a mixture contains milk and water in the ratio of 17 : 3. After the addition of some more milk to
it, the ratio of milk to water in the resulting mixture becomes 7 : 1. The quantity of milk added to it was
() 12lies (B) 8litres (© 6lires (D) 4litres

e A i 20% F FH T TEw 2 8,000 7 125 Freim sifuw @i dg aww & | @ aww "
s s sifer forttarm e & 2

A reduction of 20% in the price of rice enables a customer to purchase 125 kg more for ¥ 8,000, What is
the original price of rice per kg ?

(A T4 ® 716 © 712 o) 715

9w T ST 30 # | Teel 5 dearsit @ sitea 252 s s 3 dears o st 35 ¥ 16 ot der @
%9

The average of 9 numbers is 30. The average of the first 5 numbers is 25 and that of the last
3 numbers is 35. What is the 61 number ?

“y 20 B 30 © 40 (D) 50

A i B S A A E 1400 R, B A C F¥ S w9 E 1560 % 39 A i ¢ i miv
ST T 1440 % 11 C i wifes sma 7 d ?

‘The average monthly income of A and B is € 1400, that of B and C is T 1560 and of A and C is ¥ 1440. The
monthly income of C is

(A) 71600 (B) 71500 (©) 1400 (D) 71550

90 ferafi/erozn o =rer @ =rer T 35 v et Yermet g fersrei 3w el s a3 e ww e & 7

(A) L8FFwE (B) 1.9%F7s (©) LaFFE (D) 5wz
The time taken by a train 35 m long, running at 90 knvhr, in crossing an electric pole is
(A) 1.8seconds (B) 1.9scconds (C) 1.4 scconds. (D) 5 seconds

e v 3 o AR A A E 52 o AR e S A 3 T 42 o) At e w
e AT T 50 o, T afeen et S @ w2

The average salary of male employees in a firm was ¥ 52 and that of female employees was £42. If the
mean salary of the employees was 50, what was the perventage of female employces ?

(&) 86% ® 20% ©) 8% (D) 30%

e ot 13 5% A7 3w R T v 4,200 s e el e e e a1
T T R 2

If the sales tax be reduced from 3 ;— %03 %%, what difference does it make to a person who purchases an
article whose marked price is ¥ 4,200 7

(A) =9 (B) 76 ©) =7 (D) 10

# 50% it afe o, Afer Q F et uft 3 20% it et | Ao i A 28210 F Far e A Q
femmamdy

P, Q and R enter into a partnership by investing their capitals in the ratio of % : % i % After
4 months, P increased his capital by 50%, but Q decreased his capital by 20%. What is the sharc of Q in
the total profit of T 28,210 at the end of a year ?

(A) 797,500 (B) 10,140 (€) =10,075 (D) 783,200

42 ¥t 49 i e F1 @A 5 (LOM) S 7H 9 (HCF) F7 397 #1127
The LCM and HCF of the numbers 42 and 49 are in the ratio of
(A) 5:6 ® 7:2 © 42:1 (D) 2:7

T YSPITST TR I TR 9, 240 S o o vt 1 10 Jvs i wn et @ i e S are
Y 63 T AT | T et et s sEr e A

(A) 36071, 216 forlifar (B) 3007, 180 fafar

(C) 3007, 150 ferafieiar (D) 200, 50 Btz

A trmin travelling at a uniform speed, clears a platform 240 meters long in 10 seconds and passes a
telegraph post in 6 seconds. Find the length of the train and its speed.

(A) 360 m, 216 knvhr (B) 300m, 180 km/hr

(€) 300 m, 150 knvhr (D) 200m, 50 km/hr

A [ A1 o e 0 e 15 : 142 A i A d o

The ratio of cost price and selling price is 15 : 14, then the loss percent is

(A) 6%% (B) 16%% (©) 40% (D) 50%
11 10

%Wa&ﬁwamaﬂf(LCM)miﬁﬁm

e 1 L 900 5
Find the LCM of E‘ g‘ 3, ﬁ

13 11 10 10
m ® 7 © 3 o 3

o Faftm = s (afer = & ) 4 7t 3 e T 700 2 St i T R AT 1000 7
TR | gt T e o

The amount of money appreciates to % 700 after 4 years and to % 1000 after § years at a certain compound
interest compounded anmually. The initial amount of money was

(A T4 (B) %490 (© 410 (D) T430

F37,500 W 4351 3 Feaw 2% e anf ot a7 & |Aram ears i T i |
Calculate the simple interest on 37,500 at the rate of 2% per annum for 4 years.
(A) T5000 (B) T3500 (©) T3000 (D) T4000

T AT S e T 4% e AT R i T 15 T A wie ¥ o v e S e o 5@ v
35% T A A & | At vt shifer o i e e e & foey e st ¥ 1

A tradesman gives a 4% discount on the marked price and gives an article free for buying every 15 articles
and thus gains 35%. Find out by what percentage the marked price is above the cost price.

“» 2% (B) 39.6% (©) 406% (D) 50%

277 S 1wl o g A 14 e g e €1 4 afeand i 2 g free g s f
wed £ 1 afe v o i w7600 firer &, it w wfien w0t i e fevaen firerm anfe 2

2 men and | woman together can complete a picce of work in 14 days. 4 women and 2 men together can
doiit in 8 days. If aman gets ¥ 600 per day, how much shoulda woman get per day ?

() T400 (B) 7450 (©) T480 (D) 360

A
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FHAE F TEwT S F1 @R F e o Frean 1 i a9 frew a8 41 g d 7 7 60% 75 A
e St A e 2006 ' 3fE G 2, A gw = o e S e w2, 7w froe ad @i ms
s & o o sifa &2

A factory’s yearly budget for the purchase of employecs’ protection shoes increased by 60% this ycar over
last year. If the price of the shoes increased by 20% this year, then the number of shoes it can purchase this
year is what percent greater than the number of shoes it purchased last year ?

(A) 140% ®) 31lw (©) 142% (D) 48%

s e 8 g it ot s 3 7 R afe e e 3 10 crer e firer € o gwe s 13 Er e
¥ 14 qer o e o g i |

(A) 10efe (®) |5 (©) e (D) 13 ffex

‘The ratio of milk and water in a mixture is 3 : 7. If we add 10 litres of water to the mixture, then the ratio
becomes | : 3. Find the initial quantity of milk.

(A) 10 litres (B) 15 litres (©) 1 litres (D) 13 litres

aft 72 75 280 wex el 2w w1 21| Fedt s e £, 1 ot s 200 s el s A Ay 18
i

() s (B) 407%% (©) 4875 (D) 287F

If 72 boys can build a wall of 280 m length in 21 days, how many boys would take 18 days to build a
similar type of wall of length 200 m ?

(A) 60 boys (B) 40 boys (€) 48 boys (D) 28 boys
18 7 3 % T F At 5 i FEATE |

(A) T T (By =T AT (C) o sferm (D) T A
All human rights of a person below the age of 18 years are known as .

(A) HumanRights  (B) ChildRights (C) SpecialRights (D) Legal Rights
T e Fa e frméofi 2

(A) wrE 2002 (B) #2004 (C) T 2004 (D) St 2006
When was Micro Irigation launched ?

(A) March 2002 (B) March 2004 (C) January 2004 (D) January 2006
e # wiETge B 9 siued g 27

What s the GST rate on mobile phones in India ?

A) 0% (B) % ©) 12% (D) 18%
ot afreg § e v 2

How many members are there in GST Council ?

(A) 25 (B) 30 ©) 3 (D) 40
SETHET 1 TEell 9 2

(A) I FuE @ (B) T WA F = FAT

(C) e gt (D) FHEA I TR T
What is the first step of research ?
(A) Searching a problem

(C) Finding a problem

(B) Selecting a problem
(D) ldentifying a problem

T g faew 2024 1 fawa (e w20

(A) Ffan# sopm e (B) wfar =it 3feite e - o e
(C) e farfiim (D) e farfier 3 ferw =4 sirenififat
‘What is the theme of “National Maritime Day 2024° ?

(A) Amrit Kaal in shipping (B) Navigating the Future : Safety First
(C) Sustainable Shipping (D) New technologies for greencr shipping

TE-iter (qd-Famm) e 5 e de A e ?

(A) A @ e T

(B) = o

(C) it (Fapmmony i 4=t 3 e ket w ==t & 3 frg
(D) sifew Srarem g % ferg

What is the main goal of a pre-trial conference ?

{A) To dismiss the case

{B) Toconduct jury selection

(C) To prepare for trial and discuss settlement options

(D) Torender a final verdict

wirarer sfifern S gerwifer | T At % SuEn % Arean ¥ Sr-aweE, Sefed H, wEAm
0 a1 et 911 S s W w2 |
(A) WA () frdfim (€) TEEEFTEHT (D) ez e draradt

is the act of intimidating, harassment, defaming, or any other form of mental degradation
through the use of electronic means or modes such as social media.

(A) Cyberbullying  (B) Cryptojacking (C) Identity theft (D) Credit card fraud
et i ® S w1 sy e
(A FR¥Fam  (B) IR (©) Zaaw fm (D) 7 owfE

‘What does the acronym *TBT" stand for on social media ?
(A) TextBackTime (B) TmeBlueTuesday (C) Today's BestThing (D) Throwback Thursday

CRISPR-Cas9 teifirshi =1 swaim su fore foar srar 2 :

(A) FREaART (B) S %1 @y
(C) & i 1 s (D) T 7 T AT
The CRISPR-Cas9 technology is used for :
(A) Creating vaccines

(C) Synthesizing new materials

(B) Editing genes
(D) Detecting earthquakes

AT A T G S e s ¥ fe fraw &

(A) Taads (B) fogsmEmETH (WTO)

(C) ST ar 1 (IMF) () s Fraem 3 (BIS)

Which organization is responsible for smooth and predictable trading across the nations ?

(A) World Bank (B) World Trade Organization (WTO)

(C) International Monetary Fund (IMF) (D) Bank for International Settlements (BIS)

MPC F1 g =% ®l
(A) T e BT (B) T vifer wE
(C) Afér wrew it (D) R TR

The full form of MPC is
(A) Monetary Policy Committee
(C) Making Price Committee

(B) Money Policy Committee
(D) Monetary Price Committee
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Fo T e Pt i 2 2 D
(A) TEFT = B) wr EfiEw
(C) werdR & Im@e (D) g &= &

The book Vinaya Pitaka is related to :
(A) Sanskrit Grammar
(C) Preachings of Mahavira

(B) Thoughts of Zoroaster
(D) Rules of the Buddhist Sangha

AATE T T R 7 A
(&) Femafeas (B) oAy (C) W (D) eftar

Whatis the capital of Laos ?

(A) Vientiane (B) Kathmandu (C) Muscat (D) Lima

Fordta 2016 1 & ferret 3 e b e 3o () fiafagd A
India’s Gross Domestic Product (GDP) grew by in the quarter ending September 2016,

(A) 7.3% (B) 8.0% ©) 8.5% (D) 9.0%

T T S A o e foR e i agea 2 o
(A) 2 30#w0E B) 47225 Fve
(C) 6= 15 dHvg (@) 8 fir 20 ks
The light from the Sun reaches the Earth in about how much time ?
(A) 2 minutes 30 seconds (B) 4 minutes 25 seconds
(C) 6 minutes 15 seconds (D) 8 minutes 20 seconds
Rl A e o G ST 1 ST F § | el few 2 i s 82 B
(A) W T S ®) !fnskﬁuww
() FArEr
The Indian Constitution provides for a parliamentary system of government. This sysiem is based on the
model of which country
(A) United States of America (B) United Kingdom
(C) Canada (D) Australia
GDP o1 i o 3 IR e ¥ Rt vt s fen 2 2 C
(A) et v do (RBI) (®) o e
(C) Tt wifteash Frater (NSO) (D) s e s fafa = sERD
Which Indian organization is responsible for calculating and releasing the GDP data ?
(A) Reserve Bank of India (RBI) (B) Ministry of Finance
(C) National Statistical Office (NSO) (D) Securities and Exchange Board of India (SEBI)
AT S A e e v vhe e F froafee # D
(A) wfrAETEE () fomteeRE (C) T T (D) P AT
Which Russian author is famous for writing the psychological novel “Crime and Punishment” ?
(A) Vadimir Nabokov (B) Leo Tolstoy (C) Anton Chekhov (D) Fyodor Dostoevsky
o ____ wamtmaEmaa ) A
(A) THTTE ®) F= © % (D) it
Twitter isa based communication platform.
(A) SMS (B) Email (C) Chat (D) OTP
A fergera = w2 & ar a2 2 B
(A) e (B) == (C) iR (D) =R
India shares the Lipulekh Pass with which country ?
(A) Nepal (B) China (C) Pakistan (D) Bangladesh
afteon st i st s a6 2w e B
*) . ®) dF (©) fifiz () T
Which currency is in use in South Korea ?
(A) Yen (B) Won (C) Ringeit (D) Yuan

ST T T 2 S 1 FE R A1 e e A W S STt | c
(A) W (B) wEFm (€) wTeRE (D) Frfim

attack is where a computer system or network is infected with a computer virus.

(A) Software (B) Hardware (C) Malware (D) Phishing
T o et wid H gt e e A & S At she i T HATIE | B
[ ® 3 © =t (D) e
Rabi crops are sown in winter from October to December and harvested in summer from April to
A August (B) June (©) May (D) July
W H T T T o S 7 °

(A) ST TTEa T T AT

(B) #ftr g i Bt @

() o =rer =i fafmfi #=7

(D) sTreeFare-faidt sin sgro-fairdt srfmm semr

What is the purpose of the National Secunty Guard in India ?
{A) Tomanage disaster relief operations

(B) Tooversee border security

(C) Toregulate the financial market

(D) Toconduct counter-terrorism and anti-hijacking operations

e it f srderaEt # SR A § s Sy () # A e c
(A) TR AT At e w g

(B) T8 FIE 30T STt Al ¥ o stav T agra ¢ |

(C) AETATER, SeTTachell ST ST fashre & S wear 2 |

(D) 7 3fam sufd wdt =i Fraf # e |

What is the role of artificial intelligence (Al) in shaping future global economies ?

(A) Itreplaces all human jobs.

(B) Trwidens the gap between skilled and unskilled workers

(C) Trdrives innovation, productivity and economic growth..

(D) Trregulates global economic slowdown.

WA SIS SR fe s i e far ma B
(A) wEA i B) Trrfim
(C) fertamam e (D) T T

The Quit India Movement was launched in response to :
{A) The Simon Commission (B) The Cripps Mission
(C) The Jallianwala Bagh massacre (D) The Rowlatt Act
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et & e ST AT S A AT F T S A e % A, Hns A o hed e
TR
(4) sl (B) sigR2 (€) srg=a s (D) Sg=m 4

Which Asticle of the Indian Constitution provides for the formation of new states and alteration of areas,
boundaries or names of existing states ?
(A) Article | (B) Article2 (€) Anicle3 (D) Article 4

A B HETCHT T 3 A § HeATTE F e Whe T A :

(A) = (B) #T (€) TS (D) TR
The first successful instance of Satyagraha led by Mahatma Gandhi in India was :
(A) Champaran (B) Kheda (€) Bardoli (D) Ahmedabad

J TR AT 1 Tt S wrep wrart # fadasr et Reoren e & for st smar 2

(A) T (B) R (C) AT (D)

Which city in Uttar Pradesh is known for its educational institutions specializing in Hindi and Sanskrit
languages.

(A) Lucknow (B) Vamnasi (C) Prayagraj (D) Kanpur

Tereft 8 % ST A e T o ST B A SR

(A) W& (B) 93T (€) SH3 (D) e
Movement of people in and out of an area is called :
(A) Migration (B) Death rate (C) Birth rate (D) Growth rate

i Taraferarer (AMU) i v o 2 i off 2
In which year was Aligarh Muslim University (AMU) setup ?
(A4) 1920 (B) 1877 ©) 1875 (D) 1901

- 391 T Sl 71 g e a3 7

(A) =W (B) ST ©) T (D) =l s
Which country is the worlds largest producer of wind power ?

(A) China (B) Germany (C) Bhutan (D) South Africa
R 3 ST I F (97 2024 T) ?

(A) = T (B) . =1, =i s

(C) At Far g (D) #t Tz Tam

Who is the Vice President of India (as of June 2024) 7
(A) Shri Jagdeep Dhankhar (B) Sh. M. Hamid Ansari
(C) ShriM. Venkaiah Naidu (D) Shri Dharmendra Pradhan

2016 3 TR WIS A T e St Y

(A) TR TR e, e T S e A § A

(B) AN FITm

(C) AT & 7 ST

(D) AT SR i W fo

What is the purpose of the Inde-Japan civil nuclear agreement signed in 2016 ?

(A) Cooperation in civilian nuclear energy, technology transfer and safety standards
(B) Banon nuclear energy usage

(C) Establishment of a nuclear-free zone

(D) Joint development of nuclear weapons

3 sy Fera o 3 ferdt 2
(A) et #@= (B) ufiret 52 (€) = o (D) T HR
Which author wrote “Jane Eyre” ?

(A) Charlotte Bronte (B) Emily Bronte (C) George Eliot (D) Anne Bronte

Feafeafia § & wi-an v geg s sl ant % foe fam 2
(A) FETARREEE  (B) o SEATEES  (C) W (D) g
Which of the following substances is primarily responsible for acid rain ?

(A) Carbon monoxide (B) Sulphurdioxide  (C) Methane (D) Nitrogen gas

P T Seft Feamrrt sef o s w7 o s e @ i i 1998 # e e
AT TR A AT o 2

(A) smeddT (B) TR et () werreA fiiw (D) T T

Which Indian cconomist is known for his work on welfare economics and received the Nobel Prize in
Economic Sciences in 1998 7

(A) AmartyaSen  (B) Jagdish Bhagwati  (C) Manmohan Singh (D) Raghuram Rajan

e
Find the missing pattern.

€22D, ____,C6D4, C58D, C106D

(A) C2C2D (B) C43D () €203D (D) CCD7

o T v T s vt ST ST St % siferd e A e |
20000

0O sifFane @
afe et a siferd e sE w7 e ¥ 15% i & s gmran duet ¥ sl 10% frgz dad,
i et i e % i |
(A) 3.5% (B 2.5% ©) 28% (D) 30%
‘The given bar graph shows the marked price of five different products in a showroom.

20000
15000
10000

5000

0 Marked Price (%)

If the marked price of the laptop is 15% more than its cost price and the shopkeeper offers a discount of
10% on the marked price of the laptop, then find the profit % of the laptop.

(A) 35% (B 2.5% ©) 28% (D) 30%
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S, ST % TS ST | 31 O e 5 et e ofem # 2 Stemer F ey JI25 km AR
AT TS T S km Sw-afe R | v o o s 6w @ e e 20

(A) swgd (B) <for-afam (€) wwafa (D) =fergd
Arun_wants to go to Anu’s home. Anw's home is 5 km North-West of Priyas home which is
V25 km East of Tharun’s home. Tharun’s home is 5 km North-West of Arun’s home. In which direction
is Arun’s home from Anu’s home ?

(A) North-East (B) South-West (C) North-West (D) South-Fast

Fadt @ g ot et eyt @ ow A St oww § bt gt @ smer s
AT

o

1. e 120 Free e, v i g e T e 120 31

2. w60 R ¥ A

e

1L Am 0% R )

2. MR ook A |

(A) e e | e T (B) T Foad g

(©) e Fred 2 sE T (D) FarFred 1 T Frend 2 s
Read the statements and select the best ions that the ions made
in the statements.

Statements

1. InaT20 cricket match, the total runs made by a team were 120.

2. Outof these, 60 mns were made by spinners.
Conclusions :

1. 20% of the team consists of spinners.

2. The middle order batsmen were spinners

(A} Only Conclusion | follows

(€) Only Conclusion 2 follows

(B) Both the Conclusions follow
(D) Neither Conelusion 1 nor Conclusion 2 follows

et e &, saent w1 sres 3 e = s wes faw T # | AW & u v7es o w0 vieg % Rl
T 5 T AT AT AT | 9o F 1 G |

foam A 972 - "INDEPENDENCE"

(A) DENIED (B) NEEDED (C) INDEED (D) PEENAD

In the following question, you will find four other words provided alongside a given word. One of these
words cannot be formed using the letters of the given word. Identify that word.

Given word : "INDEPENDENCE"

(A) DENIED (B) NEEDED (C) INDEED (D) PEENAD

af3 alb=a—b, 3 THE, p=6 W =4 T T plq F TN ?
If alb=a—b, what is the value of p!q if p=6 and q=4 ?
(A) 8 B 2 © 12 (D) 10

o ffer st feenfifat & wedi 2, Frafie =0 & srom we & St sdi dear e @ 10w e
ffeg sdand

(A) St Wi sl

(B) TS feafires sawt o abid s A wgan

(C)  Frafir srere i s e & g e §

(D) it e W 3ah d o dE

A teacher tells her students, "Studying regularly leads to better academic performance.” What is the
implicd meaning of this statement ?

(A) Academic performance is mndom

(B) Studying has no effect on academic performance

{C) Regular study habits improve grades

(D) rregular studying is equally effective

a fm (7) % = R I s R st s

Chouose the appropriate figure from the Answer Figures to replace the question mark (7).

M @ dm avy

(B)
Forawit @i 3 fore &, dr anfeca 3 fmar 22
(A) e (B) forre (C) WA (D) FeARER
PIANO is to MUSIC, then what s to LITERATURE ?
(A) POETRY (B) CRICKET (C) MICROPHONE (D) ARTIST
gz g i
“sifeten dfifear : wwr A
A) B) w=h © T () g

Complete the analogy :
'Otitis media' : 'ear’ :: 'Cataracts': __
(A) Lungs (B) Bone (C) Kidney (D) Eye

Frfeftaa 3 & st e 4t S S wafaa b

M %N %1 3 ¥ M, NFTTE |

M @ N# 3 EM, NFraead|

M S NFT3 M, NF R

forferfiaa # & F - s s, Q i fuar b awiar 2

(A) Q@S%P (B) Q$s@?P ©) P@Q%s (D) Q$P%S
Each of the following questions pertains to the given information :

M %N means M s the son of N.

M @ N means M is the sister of N.

M § N means M is the father of N.

Which of the following represents the relationship "S is the father of Q" ?

(A) Q@S%P (B) Q$S@P ©) P@Q%s (D) Q$P%S

"G, AT RY, N, M1, T SR ST ST S S S He 3 9798 g |
Find the word that can be formed using the letters "G", "A", "R", "N" "I", "T".
(A) NIGHT (B) GRIND (€) TRAIN (D) GEAR

e g (2) 3 e e st & e srefa g

Choose the appropriate figure from the Answer Figures to replace the question mark (7).

@ ap ano vy

(A) (B)

ook W #, 7 TR T 21 <A SOt a0 €, 26 =i e ve # s 20 s
G ST WA T ¥ | T ST, 14 S s ot R 3 e e ved € 15 S
Tt st drfie s 3 T 3 T Tad 12 waf S i e s S S 3 e v €
AT 8 SAfeh i ST - 9l & | e oI et At T o S 9o § 7

In a survey, it was discovered that 21 individuals read English newspapers, 26 individuals read Hindi
newspapers, and 29 individuals read regional language newspapers. Furthermore, 14 individuals read both
English and Hindi newspapers, 15 individuals read both Hindi and regional language newspapers,
iduals read both English and regional language newspapers, and 8 individuals read all three types
spapers. How many people read only regional language newspapers ?

(A) 8 (B) 10 ©) 12 D) 14
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o HE I Fi |
Find the missin%number.
13,1,17,%,21
(A) 5 ® 9 ) 7 (D) 11

gm!@?ﬁeﬁlﬂﬁﬁ?ﬁiaﬂ%@%%ﬁ(fmlxﬂﬁlﬁﬂﬁaﬁiﬁ%ﬁﬁmﬁ‘ﬂﬁmﬁiﬁﬁ%@%
g
) (B) wiEm (©) I (D) =fam

Which way would you face now if you tumed 180 degrees to the left after starting by facing south ?
(A) East ®) W (©) North (D) South

TH 49 0 FAA 2, AT 9 A qAA 2
7isrelated to 49, in the same way 9 is related to :
(A) 65 (B) 22 (©) 8l D 77

e Ao & St ave defe 2 9 e e e R

») = ®) = © ™ (D) =
Clouds are related to Rain in the same way as Air is related to :
(A) Dust (B) Cold (C) Warm (D) Wind

o T v o v sty i e e o g e |
O — trifmam
O — fetdm

11[3

" V I\ = g
ot P =t s vt =t 22
w 17 ®) 8 © 14 o) 13

Examine the provided diagram and respond to the following question.
O —> Employed people

8
6
/{3 D — Backward people
7 Q 7 A —> Educated people
How many educated individuals are idered back d?

Ay 17 ®) 8 ©) 14 o) 13
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